
   PROBLEM KİTAPÇIĞI 3 ( CEVAP ANAHTARI)

Cevap001=469;   Cevap002=110;   Cevap003=504;   Cevap004= 25;   Cevap005= 30;   

Cevap006=108;   Cevap007= 25;   Cevap008=900;   Cevap009=353;   Cevap010=333;   

Cevap011=460;   Cevap012= 45;   Cevap013=269;   Cevap014=621;   Cevap015= 48;   

Cevap016=112;   Cevap017= 60;   Cevap018=380;   Cevap019=190;   Cevap020= 74;   

Cevap021=160;   Cevap022= 71;   Cevap023= 66;   Cevap024=675;   Cevap025= 78;   

Cevap026= 36;   Cevap027=178;   Cevap028= 68;   Cevap029= 72;   Cevap030= 45;      


